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AR FHRESOLEHEDHME (1)

Equation number: 1
Dependent variable.. BE5FE D 5E LS ZE L (%)
Multiple R 22251
R Square .04951
Adjusted R Square .03615
Standard Error 128.88387

Analysis of Variance:

DF Sum of Squares  Mean Square

Regression 9 553790.5 61532.282
Residuals 640 10631073.3 16611.052

F= 3.70430 Signif F = .0002
------------------ Variables in the Equation ------------------
Variable B SEB Beta T SigT

EERHERY  59.631548 34.004772 .208965 1.754 .0800
SRMEfE R /NB] 6.410164 10.835891 .024808  .5920 .5543
EIEMIBHIE 30.253632 16.022997 .081765 1.888 .0595
BED -34.240780 14.940806 -.129891 -2.292 .0222
EEgi- @ -32.477900 18.362664 -.085740 -1.769 .0774
£RD -32.222761 37.107147 -.036269 -.868 .3855
FMND  -36.930109 16.131364 -.102886 -2.289 .0224
In¥a & 7 2.430371 4.105145 .028883 .592 .5540
FfEEH -961790 .194302 -.221354 -4.950 .0000
(Constant) 13.236662 60.782494 218 .8277
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AR FHREODDEEDOME (2)
Equation number: 2

Dependent variable.. B R A°8E A ICEY 1A D M1F R, BEIFERDEIL
FRRUTOH
Multiple R 18414
R Square .03391
Adjusted R Square .01764
Standard Error .61148

Analysis of Variance:

DF Sum of Squares  Mean Square

Regression 13 10.13176 717936626
Residuals 772 288.65937 37391110

F= 2.08436 Signif F = .0132
—————————————————— Variables in the Equation ------------------
Variable B SEB Beta T SigT

HER s Y -.082329 .165205 -.056511 -.498 .6184
SEM#E R /AR  .108570 .050172 .087998 2.164 .0308
EIEMIFSIE 020874 .078439 .012044  .266 .7902

fED 043296 .058706 .033984 .738 .4610
TR ] 027442 .072481 .015374 .379 .7051
£ @D 469183 .163533 -.148037 -2.869 .0042
Z DD -.006733 .151914 -.001633 -.044 .9647

In¥a & 030094 .019774 .077231 1.522 .1284
FiREHN 000258 .000582 .018769 .443 .6576

®RE .038366 .053447 .028403 .718 .4731
FEIX In 071407 .090109 .037909 .792 .4283
KEFZ -.036978 .051396 -.028565 -.719 .4721
4 A1) -.092692 .061892 -.064559 -1.498 .1346

(Constant) 1.147148 .535898 2.141 .0326
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Xz FHREOLIEHEDHE (3)
Equation number: 3

Dependent variable.. fFliD EEHEAND RMIZEET HMEF . BEIERDEL
FRERUTOH
Multiple R 24824
R Square .06162
Adjusted R Square .04582
Standard Error 62117

Analysis of Variance:

DF Sum of Squares  Mean Square

Regression 13 19.56135 1.5047195

Residuals 772 297.87510 .3858486

F= 3.89977 Signif F = .0000

—————————————————— Variables in the Equation ------------------
Variable B SEB Beta T SigT

HER Y 316183 .167566 .214854 1.887 .0595
SEM#E R AR 137473 .050994 .110308 2.696 .0072
EIEMIFSIE 126351 .079519 .072428 1.589 .1125

fED .066856 .059532 .051950 1.123 .2618
E#- @ -.023636 .073613 -.013109 -.321 .7482
£ @D - 106611 .166008 -.033301 -.642 .5209
ZDHhD 189372 .154314 .045460 1.227 .2201

In¥a & 012513 .020077 .031820 .623 .5333
FiREH 000472 .000592 .033948 .797 .4255

®RE 023491 .054324 .017195 .432 .6655
FEIX In 290911 .091569 .152759 3.177 .0015
KEFZ -.059006 .052222 -.045124 -1.130 .2589
4 A1) -.118905 .062854 -.081987 -1.892 .0589

(Constant) -.291436 .544788 -.535 .5928



